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Electrochemistry Test
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1. Balance the following redox reaction: (4 marks)

an*’ﬂrBlO3 —>Mn04 +Bl3+ (acidic)
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d. Consider the following reaction:

Cr,0,7 +6Br™ +14H* — 2Cr’* +3Br, + TH,0

In a redox titration, 15.58 mL of 0.125 M Cr207 was needed to completely oxidize

| the Br~ in a 25.00 mL sample of NaBr. Calculate the [Br ] in the original solution.
(3 marks)
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<— Electrode X

1.0 M AgNO,

“a) The initial cell voltage in the diagram above 1s 1.25V. f‘gientify electrode X.

j/ -
b) Towards which electrode will the K* ions migrate? (1 mark)
Py _
¢) Write the equation for the reduction half-reaction that occurs (1 mark)
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(1 mark)

d) On the diagram, indicate the direction of electron flow.
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Using E° values, explain why Cu will react with 1.0 M HNOj, but not
with 1.0 M HCL. ' (3 marks)
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The overall reaction in a fuel cell is:

2H, + 0, — 2H,0

a) Write the equation for the half-reaction at the anode. <
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é,, A trophy manufacturer electroplates an iron trophy with gold.
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d) Explain how to maintain a constant metal ion concentration in the electrolyte.
: (1 mark)
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